¥ B - Assumptions and Justifications
{ Q&Iﬂq 73 in your book to help complete the notes below...
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I For each statement and its next logical conclusion, tell which definition, postulate, or theorem gives the justification:
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1. Given: AM =WU . .
Conclusion: AM =WU 11. Given:
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2. Given: E is the midpoint of BD

Conclusion: U mw the midpoint of RN

mid R C o ,?.w?.\:r
Conclusion: BE = ED

Why: UPA.\ ?_%Qg\l\ —NO?«!A.HV%AM

3. Given: A bisects CT nea_w%\... £8and £9 are vertical
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5. Given: DAY and £YAK are a linear pair. Conclusion: FA = RM
Conclusion: £DAY & £YAK are supplementary
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15. Given: MA = TH

6. Given: £TOM is the supplement of £SUE
Conclusion: m£TOM +m£SUE =180°
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. i Conclusion: KAFD & £BAT are supplementary
Conclusion: A and B are collinear

Why: Hoh\ QA\ 8:.?&&\ i—.ﬁb)(. Q?D\v .ﬂ..\.b«b .
8. Given: A is in the interior of £GLD . mm WM
Conclusion: m£GLA+mA£ALD = m£GLD R

Why: DB‘_N O w?&o A 17. Given:

9. Given: £1is the complement to £3 - Conclusion: <F, zﬁkaam m

Conclusion: m£1+m43=90° : e_ CNze \ )
Why: :

Why: Wb oF tom &?..Lﬁq ._

. ..—u.Q_.<o=:=KNuSKm

m... Q_?o.a LHAM is <Mmmﬂ to £EAT Conclusion: £2= £6 * m ,m. \.\ -
onclusion: KHAM = o C_NVeSE AT 0 —
Why: L\w\fn& k ?0\9 1 .-

7. Given: A and B lie in Plane JOG




Name:

Period:

Making Conclusions

1. +Given: TO =
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12. Given: £CAT and £RAP are vertical angles.
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26. Given: A is between J and M
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:Z_,.a_ﬁ:w Conclusions” Worksheet continues on the next page...



